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1F 324 X 12 3889_thenfind the poduct 

lof each of_the fallowing without actually 

pedomimA the multiplicanion 

al324 x 12- 3888 

DD b324 x 12 3 8 8.8 

c 0.324 X 12 = - 3.8 88 

d o.00324 X 12 03 8 8 8 

1f 614.6 X 9 5531.4 then find the_product 

o each of the Sollowin ithout actually doing 

The multiplication 

al a 6H6 X 9 :5S3.14 

O.61 46 X 9 5, 5314 

c 6146 X 9 S5314L 
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d6.146 x 9 55.a/4 

e 0.06 46 X9 O. 5531H 

5 1. 2.48 x 6 = 11.89then ind_s 

ually_domg th 
51 

the poduct wthoui actually_dai 

muliplication when 248 is multiplsA h 

o)6.0 ie 2 49 60 149. 

b 6o0 ie 248 X 600 1489.o 

c 0.6 ie , 48 x 0.6 1.488 

dio. 06 ie 2. 48 x O.06 = 0 1499 

6 000ie 2 uS X_6 000 9890-o 
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S S6.2 x : 3934 then find the 

PIoduct of each af the Salla wmg wlthouf. 

actua ll damg the mulItiplicadi.on 

oO. 562 x7 - 393 

bl56 2 7 934H 

C O.0 S62 x7 = o.ag34 

5.62 x7: 39,34 

4648 100o 648 

547.8*1000 O.S476 

g3.6 0,OoD_O.D0036 

h 76 OA00 0. 6047 6 
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